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QUESTION 1

When working with an MPLS LSP, what will the install 172.16.6.0/24 active command accomplish? 

A. The command will swap the prefix from inet.0 to inet.3 

B. The command will swap the prefix from inet.3 to inet.0 

C. The command will install the prefix in inet.0 rather than inet.3 

D. The command will install the prefix in inet.3 rather than inet.0 

Correct Answer: D 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/lsp-routes.html#id-21214 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. Interface xe-0/0/0.0 has a default metric of 10 

B. Interface ge-3/0/0.0 has a default metric of 10 

C. Interface ge-1/0/0.0 can only form a single adjacency 

D. Interface xe-0/0/0.0 can only form a single adjacency 

Correct Answer: B 
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QUESTION 3

Click the Exhibit button. 

In the network shown in the exhibit, all switches are configured with the default STP root bridge priority, and Switch A
has been selected as root. You recently added the older Switch D into the network as an access switch, and notice it
has taken over as root. 

Which configuration would solve this problem? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/no-root-port-
edit-protocols-stp.html 

 

QUESTION 4

What is the purpose of STP BPDUs? 

A. to exchange MAC addresses 

B. to determine the least cost path 

C. to determine the root-alternate port 

D. to determine the root bridge 
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Correct Answer: B 

 

QUESTION 5

Click the Exhibit button. 

You are asked to configure OSPF for the network? Referring to the exhibit, how should Area 1 be configured? 

A. stub area 

B. totally stubby area 

C. not-so-stubby area 

D. backbone area 

Correct Answer: A 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/configuring-ospf-areas.html 

 

QUESTION 6

Click the Exhibit button. 

You must create a static route on Router-A to the 10.10.5.0/24 network using 10.10.3.2 as the next hop. Referring to the
exhibit, which configuration accomplishes this task? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 
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Correct Answer: D 

 

 

QUESTION 7

You want to disable MAC learning only for interface ge-0/0/0.0 on an MX Series device. Which syntax will accomplish
this task? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/task/configuration/layer-2-services-mac-bridge-
domain-or-logical-interface-disabling-learning-for.html 

 

QUESTION 8

Which two statements are true for GRE tunneling? (Choose two.) 

A. GRE tunnel endpoints must have a valid route to the remote endpoint 

B. GRE tunnels support multiple logical units per interface 

C. GRE tunnels are stateful by default 

D. GRE tunnels support only one logical unit per interface 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/filtering-unicast-packets-multicast-
tunnel-interfaces.html#id-configuring-unicast-tunnels 

 

QUESTION 9

Which two high availability features preserve interface and kernel information during reconvergence? (Choose two.) 

A. graceful restart (GR) 

B. nonstop bridging (NSB) 

C. nonstop active routing (NSR) 

D. graceful Routing Engine switchover (GRES) 

Correct Answer: CD 

 

QUESTION 10

Click the Exhibit button. 
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Your co-worker configures the ge-0/0/0 interface with an IPv6 address of 2001:db8:0:9::/64. After committing the
configuration, your co-worker executes the command shown in the exhibit. 

What is the fe80::206:aff:fe0e:e01/64 address in this scenario? 

A. the loopback address 

B. the multicast address 

C. the statically assigned address 

D. the link-local address 

Correct Answer: D 

 

QUESTION 11

Which two characteristics describe IS-IS? (Choose two.) 

A. A collection of Level 1 routers serves as the IS-IS backbone 

B. Level 2 routers connect areas in an IS-IS autonomous system 

C. A collection of Level 2 routers serve as the IS-IS backbone 

D. A Level 1 IS routes between areas and toward other autonomous systems 

Correct Answer: BC 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/isis-levels-understanding.html 

 

QUESTION 12

To which multicast address is a VRRP advertisement packet sent? 

A. 224.0.0.6 

B. 224.0.0.18 

C. 224.0.0.22 

D. 224.0.0.13 

Correct Answer: B 
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Reference: https://tools.ietf.org/html/rfc3768 

 

QUESTION 13

Click the Exhibit button. 

Customer-1 wants the Service Provider to allow STP to operate normally on all ports but only allow the MX Series
devices to manage the Layer 2 topology. Referring to the exhibit, which feature needs to be implemented on all devices
to accomplish this task? 

A. root protection 

B. MAC movement protection 

C. BPDU protection 

D. loop protection 

Correct Answer: D 
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